
6 dm      =       ..............     m 98 m      =       ..............     dm

1,87 dm      =       ..............     m 27,9 m      =       ..............     dm

8 dm      =       ..............     m 93,8 dm      =       ..............     m

5,3 m      =       ..............     dm 7 m      =       ..............     dm

45,7 dm      =       ..............     m 11 m      =       ..............     dm

7 m      =       ..............     dm 23,27 dm      =       ..............     m

6,2 m      =       ..............     dm 1 m      =       ..............     dm

66 m      =       ..............     dm 98 m      =       ..............     dm

8 m      =       ..............     dm 8 m      =       ..............     dm

4 dm      =       ..............     m 8,1 m      =       ..............     dm

38,27 dm      =       ..............     m 9,35 dm      =       ..............     m

60,9 dm      =       ..............     m 76 m      =       ..............     dm

2 m      =       ..............     dm 59,64 dm      =       ..............     m

33,3 m      =       ..............     dm 15,42 m      =       ..............     dm

9 m      =       ..............     dm 1 dm      =       ..............     m



6 dm      =     0,6 m 98 m      =     980 dm

1,87 dm      =     0,187 m 27,9 m      =     279 dm

8 dm      =     0,8 m 93,8 dm      =     9,38 m

5,3 m      =     53 dm 7 m      =     70 dm

45,7 dm      =     4,57 m 11 m      =     110 dm

7 m      =     70 dm 23,27 dm      =     2,327 m

6,2 m      =     62 dm 1 m      =     10 dm

66 m      =     660 dm 98 m      =     980 dm

8 m      =     80 dm 8 m      =     80 dm

4 dm      =     0,4 m 8,1 m      =     81 dm

38,27 dm      =     3,827 m 9,35 dm      =     0,935 m

60,9 dm      =     6,09 m 76 m      =     760 dm

2 m      =     20 dm 59,64 dm      =     5,964 m

33,3 m      =     333 dm 15,42 m      =     154,2 dm

9 m      =     90 dm 1 dm      =     0,1 m


